[ B 4EIA= ]

BEF1504 8 H23H ~

: RigEki%. B LR G

NI 1

El

Zhl=11

Rig=2 AtHR=1.REB=1. XN=2.BFE=1
A= 1. tERK=1. Blt=1. BKk=1

SEFOMETHIIMNEIESEB IR

g & 2 3 7
E 7 3 J
5 2 35 7
g 4 3 J
B 9 3 J
= 0 3 J
By 3 J
R % = 7 3 7
;7 3 J
®= 0 3 J
X & 9 3 7

FEVEOF-LIN—E(CH

(PE1RAF)
(B Ix)
(B &)
(R #)
El4=ES)
(#etHR)
(R B)
(5 &)
(& &)
(B 1b)
(R #)

9

10

11

U TV (RBFNIS 1 (AN SZ BRNYFE R )

W &

1
| 4 0 4
0

0 0
0 1
B

12

0 1

0 2
1 6
0

L. BET S ROEZT AL T 2ERN

SHOREFESTI(CHEH (54 EKR)

u %)ﬂﬁ%
F EFPRBA <

"‘"...’-\as‘.*-" i =

S 2
azxzl ‘,‘:;st‘-‘ AN
g

7‘.

£

T A MESFEROOIHAIE S HF LU

1=




